11n91 (Kl 17%91)

O

6 1 9 10 2 3 11 4 3 7 10

( Solving Sequence
R 710511 >8—>13—>2—>6—5—9 — 4 c1,cq,c
4> — — — — — —> —> —>> (C1,C4,C8
A knot d1agranl Cio  Cr  C1n C2  Cg C5  C9  C3 Y

Ideals for irreducible component#ﬂ)f Xpar

I = (—10091257321u2° + 17716980292u'® + - - - + 366196956382 + 49796914345,
591910942537u" — 2794488596145u'? + - - - + 4394363476584a — 481484753828,
23y ... —2u—3)
Y =*+2,a>—a+1, u+1)
Iy =, a*—a+1, u—1)

* 3 irreducible components of dim¢ = 0, with total 27 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L
It = (—1.01 x10"%%?°+1.77 x 10"%u'? +. . . 4+ 3.66 X 10''b+4.98 X 10, 5.92 X
1011420 —2.79x 1012494 . .4 4.39x10'%a—4.81 x 10", w?' —3u?*+...—2u—3)

(i) Arc colorings

1
a10 = \ 0
1
a11 = \ —y?
U
as = \—u’+u
—u? +1
al = _u2
—0.134698u2° + 0.635926u'° + - - -
az =\ 0.0275569u2° — 0.0483810u!® + - -
—0.059909042° 4 0.413165u° + - -
az = 0.129090u2° — 0.405931u'° + - - -
—0.094420742° 4+ 0.398371u! + - -
g = 0.0612997u2° — 0.138407u!® + - -
0.340816u20 — 1.13692u! + - - - —
as = \0.154312u2° — 0.484554u!® 4 .-+ —
—0.188362u2° + 0.626385ul® + - -
ag =\ 0.0158081u2° + 0.0256218u1® + - - -
—0.186504u2° + 0.652367u'® + - - -
as = \ —0.154312u2° + 0.484554u19 + - - -
—0.186504u%° + 0.652367u'® + - - -
ag = \ —0.154312u2° + 0.484554u'° + - -
(ii) Obstruction class = —1

(iii) Cusp Shapes

__ 57646172449 u20 4 3879411649731L19 R 4279700760483

—0.0316545u + 0.109569
- —1.11621u — 0.135984
- — 1.26842u + 0.402548

— 1.14509u — 0.299649

-+ 0.793023u — 0.448119)
0.307450u — 1.55518
0.533633u — 0.125533

-+ 2.11578u + 0.520624
—0.226183u + 1.42965

+ 0.533633u + 0.125533

—0.226183u + 1.42965 )

=+ 0.143901u — 0.565085
+ 0.586386w — 0.748984>
-+ 0.533633u + 0.125533

+ 1134852296901

732393912764 732393912764

732393912764

183098478191



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs wl =2+ Tu—3
C2 u?t 1400 + -+ 49u — 9
c3,Cg, Cy W+ 8u—4
4 u?t —u?0 4 .. — 64u — 548
Co u? 20+ 4+ 19u — 3
c7,C10 w3+ —2u—3
c11 u?t —3u? + .+ 22u—9




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs5 v 14y - 49y — 9
C2 Yy —10y%0 + .-+ 7117y — 81
C3,C8, Cy y?t + 31920 + ... — 160y — 16
Ca v 491920 + ... — 4121248y — 300304
Co y* —34y%° + ... 4193y — 9
7, €10 Yt =3y 0+ 422y — 9
c11 v 4+ 37920 + .- 42158y — 81




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.678453 4 0.6881471
a= 0.845365 + 0.7967601
b= —0.271568 + 1.0625401

—2.57223 — 2.301041

5.12347 + 3.686981

u = —0.678453 — 0.6881471
a= 0.845365 — 0.7967601
—0.271568 — 1.0625401

—2.57223 4+ 2.301041

5.12347 — 3.686981

0.316999 + 0.8139171
—0.403688 + 0.4923801
0.713808 + 0.2700611

—2.21076 + 2.094681

3.00496 — 3.914891

0.316999 — 0.8139171
—0.403688 — 0.4923801
0.713808 — 0.2700611

—2.21076 — 2.094681

3.00496 + 3.914891

1.145710 + 0.140166.1
0.239466 — 0.4101151
—0.264392 + 0.4424891

1.11524 + 1.374601

4.04933 + 2.025821

1.145710 — 0.1401661
0.239466 + 0.4101151
—0.264392 — 0.4424891

1.11524 — 1.374601

4.04933 — 2.025821

—1.134400 + 0.4657601
= —0.130701 — 0.2003351
—0.21844 — 1.426691

—5.12357 + 0.627631

1.407681 +- 0.0313021

—1.134400 — 0.4657601
—0.130701 + 0.2003351
—0.21844 + 1.426691

—5.12357 — 0.627631

1.407681 — 0.0313021

—0.831921 + 0.9768861
—0.814769 — 0.8245291
0.567067 — 1.1291801

—6.41753 — 6.553641

2.05255 + 5.682401

—0.831921 — 0.9768861
—0.814769 + 0.8245291

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a=
b= 0.567067 + 1.1291801

—6.41753 + 6.553641

2.05255 — 5.682401




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.684877 4 0.1266731
a= 0.28002 + 1.722361
b= —0.033686 + 0.4729621

0.91652 — 2.355391

2.06528 + 5.30676.1

u = —0.684877 — 0.1266731
a= 0.28002 — 1.722361
b= —0.033686 — 0.4729621

0.91652 + 2.355391

2.06528 — 5.306761

u = —0.153992 + 0.5458931
a = —1.93201 — 1.209907
b= 0.130919 — 1.3914901

—5.17740 + 1.742651

0.53526 — 2.037081

u = —0.153992 — 0.5458931
= —1.93201 4 1.209901
b= 0.130919 + 1.3914901

—5.17740 — 1.742651

0.53526 + 2.037081

u= 0.515961
a= 0.725450 0.754310 13.3550
b= —-0.417301

u= 1.06707+ 1.076051
a= 0.80534 — 1.325021
b= —0.08814 — 1.779271

—12.95410 4 3.948531

4.46142 — 1.9199471

u= 1.06707 — 1.076051
a= 0.80534 + 1.325021
b= —0.08814 + 1.779271

—12.95410 — 3.948531

4.46142 4 1.919941

u= 0.92823 + 1.316031
a = —0.465176 4 1.2769001
b= —0.01070 + 1.854721

—17.8929 — 1.44761

1.24285 + 0.693891

u= 0.92823 — 1.316031
a = —0.465176 — 1.2769001
b= —0.01070 — 1.854721

—17.8929 + 1.44761

1.24285 — 0.693897

= 1.26765 + 1.026981
= —0.95325 4+ 1.076811
0.18378 4 1.787611

(SRS

—16.6802 + 9.90351

2.37944 — 4.788001




Solutions to I V—=1(vol +/—1CS) Cusp shape

u= 1.26765— 1.026981
a = —0.95325 — 1.076811 | —16.6802 — 9.90351 2.37944 + 4.788001
b= 0.18378 —1.787611




(i) Arc colorings

az =

ag =

ag =

a5 =

ag

ag =

ay

1. I%

(ii) Obstruction class =1

(iii) Cusp Shapes = 4a + 4

b2 +2,a>—a+1, u+1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, (u? —u+1)2
Ca2, Cs (u? —|—u+1)2
C3,C4,Cs (u2+2)2
cy
Cr,C11 (u — 1)4
Cc10 (u + 1)4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y2+y+1)2
Ce
C3,C4,Cg (y+2)4
Cy
C7,C10, C11 (y — 1)4

10



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape

u = —1.00000

= 0.500000 + 0.8660257 | —3.28987 — 2.029881 6.00000 + 3.464101
b= 1.4142101

= —1.00000
a = 0.500000 + 0.8660251 | —3.28987 — 2.029881 6.00000 + 3.464101
b= —1.4142101
u = —1.00000
a = 0.500000 — 0.8660251 | —3.28987 + 2.029881 6.00000 — 3.464101
b= 1.4142101
u = —1.00000

= 0.500000 — 0.866025] | —3.28987 + 2.029881 6.00000 — 3.464101
b= —1.4142101
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III. I¥ = (b, a®> —a+1, u—1)

(i) Arc colorings

ag =
a5 =
ag =
as =

e )

(ii) Obstruction class =1

(iii) Cusp Shapes = 4a + 10
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(iv) u-Polynomials at the component

rossings u-Polynomials at each crossin,
C Poly Is at h
2 1
C1,C2, Cg u® +u—+
C3,C4,C8 u2
Co
Cs w—u+1
¢ (u+1)?
2
€10, C11 (u—1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
61762365 y2+y+1
Ce
C3,C4,Cg y2
Cy
2
¢7, €10, C11 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u = 1.00000
a = 0.500000 + 0.8660251 1.64493 — 2.029881 12.00000 + 3.464101
b= 0
u = 1.00000
a = 0.500000 — 0.8660251 1.64493 + 2.029881 12.00000 — 3.464101
b= 0
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
! (u? —u+ 1)) W +u+1)(w? —2u® 4 + Tu — 3)
€2 ((u® +u+1)*) (e + 140 + - -+ 49u — 9)

c3, Cg, Co u?(u? +2)%(u + u® + -+ 8u — 4)

4 w?(u? 4 2) (u —u® + -+ — 64u — 548)
C5 (u? —u+ 1D +u+1)%w? =202 4+ -+ Tu - 3)
6 (u? —u+ D)W +u+ 1) (u? + 202 4 -+ 19u — 3)
¢ (u =1 (u+1)*(w? —3u®° + - —2u —3)
10 (=13 (u+1)*(u?* —3u? - —2u —3)
c11 (u— 1% (u*' = 3u* + - +22u —9)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
1, Cs (P +y+ D3 + 14920 + - + 49y — 9)
“2 (> +y+ 1% (2" —10y2° + - + 7117y — 81)
¢3,Cs, Co vy +2)2 (2 + 3192 + .- — 160y — 16)
€4 v (y +2)*(y* + 91y + - -+ — 4121248y — 300304)
6 (v* +y+1°)(y*" = 34y™ +--- +193y - 9)
c7, €10 (y =1 * =3y* + - +22y - 9)
c11 (y — 1)%)(y** +37y*" + - - + 2158y — 81)
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